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.8 Tech, DEGREE EXAMINATIONS, NOVEMBER/DECEMBER 2000
THIRD SEMBSTER
BEE
BF 1251 — BLECTRICAL MACHINES - 1
Timo  Three hours Maximum: 100 marks
Answer ALL questions.

PARTA—(10x

0 marks)

1. Name the type of Synchronous generator used in thermal power stations Why?

2. If the values of regulation of two aynchronous generators are 0.5% and 3%
which one of the generator will use choose? Why?

3. What do you mean by a synchronous condenses?
4. What are the functions of a damper winding?

A 4 pole three phase squirrel cage induction motor operates at a supply
frequeney of 50 Hz at  speed of 1440 rpm at full load. Find the frequency of
the EMF induced in the rotor.

6. Suggosta typical slip at which an Induction generator delivers power.

7. Whatis tho primary necessity of a motor starter?

Mention the methods of specd control ofinduction motors

o State the typical power factor of a singlo phase induction motor at full load
condition.

10, Mention an ac motor which is used in servo applications.
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Derive an equation fr the Power output of synchronous motor, (6)

A Sphase starconnected non-sation; Pole. synchronous motgr
Crrmeshy s impedance of
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@ Draw the torque slip charactoristics with vasious valucs of rotor
resistance, while the stator and rotor roactances remains the same.
Marik the various rogions of operation. ®

(i) A 3-phase, 400 V, 50 Hz induction motor takes a power input of
35K at its full-load speed of 890 rpm. Tho total stator losses are
1K and the friction and windage losses are 1.5 kW. Caleulato

M slip

() Rotor ohic losses

() Shaft torque

@) Efficiency. an

or
@ Derive the Torque equation of a threo phase induction motor,  (6)

(i) A S-phase squirrel-cage induction motor has a rotor starting
current of & times its full load value. The motor has a full lad
slip of 5%.

Detormine

(1) The starting torque in term of full-load torque,
() The slip at which maximum torque occurs, and
(®) Maximum torgue in terms of full-load torque, a0

Explain the different types of starting of three phase induction motors

(16)

or
Bxplain the different methods of speed control of three phase induction
motors as)
(@ Explain Double revlving field theory of operation of single phase
induction motor. ®
(i) Discuss the various stating methads of single phase induction
motors, ®

or

Write short note on

) Shaded pole induction motor, ®
i) Stepper moor. ®




